Balance the equations
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46. Choose the balanced equation

A) 2KOH + H,804 — H;O + K>S0,
B) KOH + H,SOy — H,O + K>504

© KOH + H,SO; — OHSOs + KH»
@ 2KOH + H,SO0, — 2 H.O + K,804

47. Choose the balanced equation

A) 2HCl + NaOH — NaCl + H0
B) HCl + NaOH — NaCl + 2H0
@ HCl + NaOH — NaCl + H0

D) HCl + 2NaOH — 2NaCl +2H0

48. Which equation is not balanced?

A) 2NO + 0O, — 2NO;

B) 2Na + 2H,O0O — 2NaOH + H;

C H3PO4 + 3KOH — K;3;PO, + 3 H,O
@ 3HBr + Fe(OH); — FeBrz + 6H0

49. Which equations are balanced?

CHy + 30, — cO, + 2H0O
B 4CHs + 130, — 8CO; + 10 H,O

C CiHy + 20, — 3C0O, + 4H,0
C4H3 + 602 — 4C02 +4H20

50. The neutralization of hydrochloric acid (HCI) by calcium carbonate (CaCO3) produces
calcium chloride (CaClz), carbon dioxide (CO2) and water (H20).
Write the balanced equation for this neutralization reaction.

Q HCl + d’»C/O’E = CC#»C/,;[ & 602_ + HZO
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51. The combustion of methane, CHa mixed with O, produces carbon dioxide, COz2, and
water, H20. The unbalanced chemical equation for this reaction is as follows:

CHy + O, — CO, + H,0

Balance the chemical equation for this combustion reaction.

Clly + QO;\ - CDQ_ + AHa O



52. The complete reaction of 8 g of methane (CH4) with 71 g of chlorine gas (C12) produces
73 g ofhydrochloric acid (HC1) and a certain amount of carbon (C).
The balanced equation for this reaction is as follows:
CHs+2Clz— C+4 HCI
What mass of carbon is produced by this reaction?
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53. When 191 g of copper, Cu, is combined with 756 g of nitric acid, HNOs, the chemical
reaction produces 563 g of copper nitrate, Cu(NO3)2, 108 g of water, H20, and a certain
amount of 'nitrogendioxide, NO2. This reaction is represented by the following balanced

chemical equation:
Cu + 4HNO; - Ca(NOyp + 2H,0 + 2NO,

What mass of nitrogen dioxide does this reaction produce?
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54. The combustion of 16 g of methane (CHa) in 64 g of oxy
water (H20)and a certain mass of carbon dioxide (CO2). The following balanced equation

represents this combustion reaction:
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The combustion of 11 g of propane (C3Hs) in 40 g of oxygen gas (02) produces 18 g of water

(H20) and a certain mass of carbon dioxide (C02). The following balanced equation represents

this combustion reaction:
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Which of these two reactions produces the smaller mass of carbon dioxide (CO2)?
For each reaction, show the calculations required to determine the mass of carbon dioxide

(CO2) produced.




